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Four choices are given for cach of the following questions / incomplete
statements. Choose the correct answer among them and shade the cormect.
aplion in the OMR Answer Sheet given to you with a black / blue ball point
pen, 40 % 1 =40
L.oE0 Reincat 3 eaob nil 20 a, = 4n+ 5 &R, eod 553 T

(A) 20, (B) 14

<) 25 S

The nth term of an Arithmetic Progression is a = 4n + 5. Then its 5th
term 15

{A] 20 (B) 14

(€ 25 (D) 24

5x% =2(2x+ 3| ANTHDVEINTR LodrcoEng Ldoer, droh Aoaod
fA] 5 i B 6

€] 4 : 0] -6

When the quadratic equation Sx® = 2 [ 2x+ 3 ) is expressed in the
standard form, the constant term obtained is

A 5 (B 6
c 4 ) -6
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The pair of equations of lines as shown in the graph are
L

ra &
P

¥ -4 -3 -2 -1 ©
~14

Q11,0)

8(0,-2)-2

{A) x+y=1 and 2x-y=1
(B] 2x+y=2 and x+py=2
(€) 2x-y=2 and 4x-y=4
L y—wx=0 and x-y=1

a1x+b|_y te = 0 @ uzx-v-bgg,vh:2 =0 Eif:-l?{f
ASRoI0=G0 ePny sTrrry SUoing Jouens
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) =0
Ay e of linear copiadions i two wariakilen tll'l. I"h| W, U]

G+ B r4c, =0 are paralicl lines then the correct relation of thee

coeflicionts 15

iy ] -~

1 o . Y B} . . ;
a, b, Cs iy -'J-_q q
iy :r_l # rl (1) i = Ii
g hz I iy

2o+ 3y+ T=0 sy aws by 14 = 0 desditd dashate Zond 2grsna
dexlriveod, o Tl b Bt f,2hemn

Ay 2oy a (B)y 3 =y3

IC] 4 =26 (B 1=bE2

If the poir of lines 2+ 3y + T 0 and e+ by + 14 = 0 are coincident

tines then the values of 'a'and 'b° are rospectively equal 1o

Al Zand3 P} 3and2

T qand 6 IO 1 ared 2

& SEIY, TR ARRedd 8 ipednnd 0
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Whi -
hich of the follewing is an Arithmetic Progression 7

By 1, 2, 4, 8

=d =L 3, .. wEineEs g enad 11580 Yo

(A) 23 {ﬂ;l - 23

(€ -17 (o) 17

The L1th teri of the Arithmetic Progression -3, — | P N
(Al 23 - B -23

i) =17 (1 17

|

LoD AEReEd 5elodh ey 10 Do HR¥F 155 ohcd ma e Johoh
e 9 TR Sa39) 126 smon 40 108 mo
Al 27 : (B) 126

€ 29 D) 25

The sum of the first 10 terms of an Arithmetic Progression is 155 and the

sum of the first 9 terms of the same propression is 126 then the 10th term

of the progression is

(A] a7 ' (B] 126

(&) 29 D) 25
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10, 247

tax+h =0 IriFniusons Lo deesy 2 e, e’ ok ud
[ 1L U 1
B) 3
ey =7 R i
1B} 3
If one rool of the egaatien 2%% + av+ 6 =0 is 2, then the value of
15
Ay T 7
) 1] -
7
G} =7 T =
] 8] 3
1. px’ 4gx+r =0 T7F Boodns Saeges
(A} g® —4pr B g% vapr
€] F:—“F" 18] p?+4qr
The discriminant of the (uadratic equation pxt +qx+r =0 is
(Al g -4pr B g +4pr
[y pt-apr D) p? +agr
12 4. x 10 TER0ID SRcLINU Y uoo
(Al 14 B -6
icy -7 oy 7
i 4, x 10 are nArithmetic Progression the value of xis
(A 14 1B -6
)y -7 7
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il

2
AT+ byt o= 0 TETLLIEO R e

bt ! - e

N 2w ST Y T
201

~bt b+ tac

Bl x
2a
S, 1 =
0 % = [V 2 de
2a
—_—
D) x = -h+ #FJJ--iHL'
2

The roots of the quadratic equation ax? + br+ ¢=0 are

-h+ JB4 - dac

4] x = .
— b+ Jp
B x = Bt Jb© + dap
2;1
~b~- Jb? -4
€] = = 2
20
+b+‘|'f:':’——1-ac
D) = = o

(x-3)(x+2)=0 3035000 darurs

A) -3, 2 B 3, -2

(Cl - '3: =2 ﬂ:” '3| 2

The roats of the equation (x-3) | x+2]=0 are

Al -3, 2 B 3, -2

-2 | D) 3, 2
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15.

16.

<O &g, = garnroeny degs 27 e, ¢ TRTSFOIN
(A} 7 b 20 (B) 13 =03 14
(C) 13226 D) - 1333 -14
If the sum of two consecutive integers is 27, then the integers arc
(A) 7and20 B 13and 14
(€] 1and26 (D) -13and-14
BRMTR WETY  sin 0 = ISoIn

A

1

B

-1

(A 5
© 3
[n the figure, the value of sin 0 is

A

2
1
j :
B &
1 o
(A) 5 (B) )
© 43 o =
J3

12

of 32



17,

I8,

19,

Bl1-K/E (RF/RR/I'F/PR/NSR/NSPR)

| sin 30° + cos pE° - tan 457 ) ot dod
(A 1 B) -1

(€) (D} ©

ka

The value of ( sin 30° + cos 60° - llznn 45° ) ia

(Al 1 B -1

<) 2 B O

3 +sec?o amd 2o

(Al 4+ tan?g (B) 4 +cot?p
(€ 2+ cot?n . (D] 3+cot®p
3+sec?0 s equal to

(Al 4+ tan20 (B) 4 +cot?0

IC 2+ cot?p D) 3+ cot?s
et mobog 30 Qoe. Heod Fuz Deds wodh togionsg nipegiog
a:mai:ag{ Qi Amen vooimha BT feeRsy 30° vwd, & feemon S0

(A} 10m (B) 30m
(C) 1043 m | (D) 3043 m

The angle of elevation of the top of a tower from a point on the ground,

which is 30 metres away from the foot of the tower, is 30°, Then the height

L,
of the tower is

(A) 10m _ (B) 30m
€ 10/3 m (D) 3043 m
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20.

21.

{8in O = cosec 0 ) T Yt

W 2 m
1 J3
{CI - E (D) b
The value of ( 8in 0 » eosec 01} is
1 Ja
< - 5 ) =
> ’ ity Sepymas garmelomin oG ROTLTL
A[ xl ] yl] h.l.'?aj H[ _x? i yZ] bﬂ&ﬁf[ﬁ“ﬂ\dﬂh'ﬁ b F Py W \.Q.J;L [ 4
goidkBodnd Ang,
f*"?*"l 92"'1*’1\ (xy =, ’fz‘lﬁ\
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c a7y (D) (xp4x Bty
e a '3 3 " 3
"q- & |~.

The formula to find the mid-point of the line segment joining the points

ﬂ{x,yl}ﬂﬂd.ﬂ{xzfyﬂj is :

¢

b’
X, +x W, + Y X=X = U
g T 2 Ty 2 7 Z_*1
() . B) ' T ]
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(5901 ) 2% (x, .y, ) torenca geogy

Nl =, Hyy -uy 1?1 J{_x._? -x P =y -y P

©F Jlx +x, ) ~tw +u, P D) Jlx? bxy )Ry )

The distance between the pointa  (x, i, | o (x5 45 ) i

) \"["‘l =X, P iy -y, (B J{rg —x =y -y P

©) Jr‘\ + X, iz—i!ﬁ i, ) (D) J“?*ﬂ 1 4y vy )

o TR EROIIVE, 3 T TU DRI 7o ob 3P0, oy

(A)  Zoazbodnng (B) wEows whed

(€] =new, odaand (D) & 8

The value among the observations of most repeated scores of the data is

(Al  the mean (B] the mode

{C) the median (D) the range

4 8V WzoTmy Hoesy’ ol

oo | o [ 8 [ s ] 7]
-,

(&) 16 (B) 5

(€ 1.6 ' D] 4

The Mean of the following scores is

faw] & L Ve T )

(4 16 (B} 5

[l 1.6 e 4
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25,

26,

SO B edv Rovror wah by TR R oEY TOUCHR)

(A) 3 g of = 2 Zoasy + wabes

B) 3 Xoaxo =2 o, 08 + wabuy

€) Im=0 =3 =orm), 08 + L

(D) TN = 3 Hoond + 2 o, o

The relation among the Mean, Mode and Medinn is

{A) 3 Median = 2 Mean + Mode (I3} 3 Mean = 2 Median + Mode

(C) Mean = 3 Median + Mode (1) Muode = 3 Mean + 2 Median

Soera Do mdqﬂl WOTY AQCHUD dUNG TS, Hozpearsoh woth nera
und’!‘ woooamen Snuds frois masesy

(A)  AQoRUHE [IPT wUHom jt:qd
(B) ACOUUT FRPUT LG ImRLEd |
(C) ASedo's PrFod saodp gt
(D) Adomo's :,.h;:mum;; adiZd

A cylinder made of wax is melted and recast completely into a sphere,
Then the volume of the sphere is

{A) two times the volume ol the cylinder
(B) half the volume of the cylinder
(C) 3 times the volume of the cylinder

(D) equal to the volume of the cylinder
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EIRFOSD T mem (¢od) I ForblRcles fiRg,

=

(A) 3 Sk

A * FYi03
(B) 3

e + s
(C) 2

wotgS + T8
(2) 3

The farmula to find the mid-point of the class interval is
Upper limit - lower limit

A

(A) 5

(B) Upper limit x lower limit
3

©) Upper limit + lower limit
2

ID] Upperlimit + lower limit

3

AABCobd XV || BC soan
l"

Ii

W 35 = %7
R
S
Dl 5% = 57

of 32



B1.K/r IRF/RR/PF /PR/NSR/NSPR)

In the ABC, XY || BC then
A

i I
) 4% AcC

AR ~ AY
Al

(B) E%:-g_;
A

(D) Eg‘%

29. IRUDE aoms S LENVED MRy, So3d DR R wydahs roTod
=

12 cm 3
(4] 62 em (B) 232 em
C) 4.2 cm D] 8.4 cm _
Observe the given two triangles and then identify the length of OF in the
following : ;

(A)
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A ABC -
FC= A POR. A ARC &ytesr = 68 cm? st A POR L3¢5 = 100 em?

:..JIHIf-. ,'1;] g R cm I__‘:::fl' I‘R‘ e |

LR L

A 2¢
N 12em B 15em

(€l 10 em D) Rem

A ABC ~ A POR. Area of A ABC = #4 cm ? and the area of A POR= 100 em?

If AB=8¢mthen the lenpth of Qs
(A} 12 em it 15cm

€) 10em D) 8cm

A ABC o324, E = 0Q° EL!J.' BD1AC, AB=6cm, BC=8cm =30,

CD oL o)

[}

) ‘q
10 cm
D
Gem
k C
5] Eem
(&) 10cm (B} 6.4cm
(C) 4.Bcm (D) 3.6em
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o Aft=fhem, BC= A oy
Mthe A ABC, [ B =00 and BD LAC I Ait= B¢

|.'||{.-|'| the I“Flﬂth af Ch

5
A
10 em
n
Lrem
C
I g ¢
Al 10 em (R] 6.4em
€] 4.8cm (D} 3.6 em
32. BT dnrBithaad o ‘55:%‘.@1 ﬁué% A ﬁﬂfﬂr—jﬂf AT rasﬁ:’i
[N

[A) 4 cm (B] 2cm:
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In the piven figure AT is tangent drawn at the point A ts the circls with

centre O such that OT= 4 e, If £OTA = 10" then AT s

W e B 2em
C) 243 cm o) a3

W EIEG P PEC @y CD i 0" doriRy 3 e Agrannnd.

PC=8cm WOZ AP=5 em @Imi, CD zUFED ey

(Al Sem (B) 3em

{C) Bem . (0} 13 cm
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34.

In the given fipure P4, PBC and D are the tan

centre O, IF PC= 8 em and AP = 5 cm,

gents to @ circle with

the length of the tangent CDis
A .

v
(e
B
[}
o

(&) Sem (B) 3cm
(€] Bem (D) 13cm
S 39NT Devdnvd I Sevdodomy’ rhddy
(A) T8 V0 2gresy o gan ot wemhaad, WdFR3n
(B} :{EE LOT FHoV ﬁwo::;a ey =0y odnsoned q_,gd TCTie LOTH

DL IRCT Tt Brehas
(Cl T8 eomh AoV Sedobnmy wioon o> IR NPT WorkIa)

:E;ra:cd: RleimB R elevebr { v
(D) Hordodoldon J3E odfd 3ng Aordedn LowmATIZ D

The wrong statement in the following is

(A)
(E)]

(C)

(D)

a tangent to a circle touches the circle exactly at one point

when a straight line is drawn to a circle it always passes through a

paint on the circle

the point commeon to the circle and its tangent is called the: point of

contact

the tangent drawn at any point to a circle is perpendicular to the

radius drawn at the point of contact
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35. o3 ﬁsﬁ
B3 Taons womy g oloed O AIFEnvay TuTIh MY Oy

irawl,-d.::i Cudcdy @ozm 2020 mmm T2
O |
[P.:l O 1' —
T
(C) @

O

(1111 (#) ] 23 of 22

X




Bl
R/E R/ rRy PF/PR/NSR/NSPR)

Whicly o ;
R e pexy step of construction while constructing ir of
Lithien s 4
FENLE ooy cirele from dn external point ‘T given in the figure 7

gl

L —— i

L

61

P
T

i<

(D)
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e

ot losvd oeg | Hxyerr 616 em? whd, e AAYE 30D

(A] 49 em : (@) 14¢m
[C] 21 cm (D) 7cm

The surface arca of a sphere is 616 sq.cm. Then the radius of the same
sphere is

(A) 49 cm (B) 14 em

(C] 2l em (O] 7em

U oT ZoDN PRPY TodbBNINT XATR)

r

(A) nr?h (B) nr(r+l)
(©) -é-mfh (D) nrl

The volume of a cone as shown in the figure is

r

&) =rih (B) ar(r+1)
© % nrih (D) =rt

h3
L
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a8,

W (vr? + 20rh) cm2 B) 2nrhem?
o1

©) 5 nr?h emd D) (xr? +h)em?

The

formula 1n find the total surface area of a right circular based

cyl.ndrieal vessel of base radjus rcm and height h em opened at one end is

(&) {nr? «2nh) em? (B) 2rrhecm?
C) % nrih em?

D) (2r? + h)em?

39. w3z

Srrhatm U Tosaw =g Eed | dytear Sombifadng ez o)

—_—

(A) %::I{rl+r2] ® X

2
3“-"“:"1 +

2
T, +r1r2]
(C) r:."{rlI +r, )

(D) =« | n=ry)
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To find the o

Clirveyd o .
Wrttice aren of g frustum of n cone as shawn in the

fipure the lormnyy, Uned gy

——

1
Al =nf !
A q " [r|-|r2' HHE]] %nhlrlj zz-i-rlr)
{GI :I'I:“rl-trj,]- [Dl T[I{r]—rg'

WOI P eorietd g m,*al Saeror 462 cm? ehd g woo

:-L-i"-”fia SINEFSFR) 308 cm Umn edrrisedn o BT e
(A) 308 em*® (Bl 231 c¢m?
(€ 154 em? (D) 1078 cm?

The total surface area of salid hemisphere is 462 em?  If the curved

surface area of it is 308 cm?, then the ares of the base of Lthe hemisphere

is
(A] 308 cm? (B] 231c¢m?
(€) 154 cm? (D} 1078 cm?
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